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BT 559 482 513 995
L HT 90 86 103 189
rf T 47 42 58 100
THET 585 600 640 1,240
FET 502 499 551 1,050
ER AT 391 379 443 822
/M BT 500 541 555 1.096
f;[é B2 258 264 329 593
X FRE 726 829 916 1,745
FHigE 287 345 406 751
HigE 156 172 185 357
PN} 746 887 969 1,856
MR FE 269 298 348 646
INRFE2 809 811 946 1,757
INBBRR R & ET 5,925 6,235 6,962 13,197
R 613 625 715 1,340
hg2 376 344 426 770
PN % 575 600 708 1,308
[& KiRF1 358 389 444 833
% AR 1,187 1,201 1,322 2523
= KRR T 10 14 24
KirF2 301 339 398 737
RERXEET 3,421 3,508 4,027 7,535
EW 350 366 441 807
A<IZE7 Hlih 780 796 939 1,735
1R 629 818 891 1,709
_ A 298 358 385 743
= e 117 130 173 303
EJ e 1,371 1,543 1,821 3,364
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X =iR 722 720 883 1,603
=ZEANE 599 696 764 1,460
=EMNE2 534 601 648 1,249
ESa(OLan 441 708 728 1,436
=ERRXEE 5,841 6,736 7,673 14,409
ZR 82 84 100 184
Fi5 221 288 293 581
w_E 57 63 74 137
vy =] 62 68 67 135
hva EHS 59 68 86 154
a T#5 30 35 34 69
1 HFE 310 295 381 676
=4 +EH 78 75 96 171
5IR 129 143 160 303
1E3L 60 71 83 154
N5 395 421 458 879
AKX E&E 1,483 1,611 1,832 3,443
TEH 132 127 140 267
, i 64 81 85 166
fil =% 109 136 137 273
E - % 589 761 867 1,628
X EHAL 221 219 261 480
=3 106 114 144 258
R X S5t 1,221 1,438 1,634 3,072
A 73 103 110 213
AT 85 94 105 199
173 J\IR 229 217 273 490
IR e 188 181 230 411
% ki) 203 246 282 528
B T 172 176 201 377
Il 68 83 78 161
LRIRE X & & 1,018 1,100 1,279 2,379
ER il 173 167 175 342
ka1 129 141 141 282
= p N 474 531 501 1,032
g EX5 565 596 607 1,203
% G = 635 612 699 1,311
B KRB 664 690 733 1423
EEE 219 166 53 219
REFRRX G 2,859 2,903 2,909 5812
o =R 51 34 49 83
L7 HFHMNE 1,515 2,083 2,180 4,263
fgé't EHMNE 1,335 1,943 2,111 4,054
f:i; HI H 365 475 537 1,012
DNEHDERREEE 3,266 4,535 4,877 9,412
&t 25,034 28,066 31,193 59,259




